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(/91 19% EEf iky WVEVE] FEFE
2| 4604/ bl BE(T) s 7 8 6296 =& —E() FES 2,33.75
THeY by BT Riz R+ HNET
6/ 4194 B&iR k() EEE] 6/ 4909 {kHE Z=¥E(2) Hh
VIR PIYS alg Ri5 EL Lk HNET Riz
[ 7481
JE Lb-» No. E £ E4 R IEE
1 3| 4456 FIIl TE Q) 2 2,07.60
B 3% HhEFEH
2 4 5228 MAT KZE Q) E] 2,12.34
9¥47 hhen HFEIEH
3 8/ 5460 LA #th (3) EE] 2,14. 49
5 1y N Bt
4 5 5488 HiR = (2) st 2,17.13
T 7 YN 4 Bt
5 7/ 5126/F@ (2 tht 2,18.59
iy MRV FHitg
6 6/ 5535 BE HE(N) EE] 2,19.13
4%/ R [LfE
7 2| 5461 #fE 73+ Q) EE] 2,21.75
L35 b JIls B JRC
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1 4456 FJIl HE (3) thz FEF o 2,07.60 7 1
2| 5228 AT KZE(3) thes ot (Aas 2,12.34 7 2
3| 5460 lLuEA #hth (3) ths N B 2,14.49 7 3
4 5488|diR 2 (2) thes Eitd 2,17.13 7 4
5 4196 ;ZAX #HF Q) thz SIS 2,17.49 6 1
6| 5126/3FHE () thes Hitd 2,18.59 7 5
7. 5535 BF #xE() thz [LfEs 2,19.13 7 6
8| 5461 #f@A %3l (3) thex N5 BJRC 2,21.75 7 7
9 2711 52% EE Q) thz HET 2,22.35 6 2
10 5015 &4 =F(2) thes EHEREG 2,23.00 6 3
11 4372 B b (3) thz AEFEH 2,23.36 6 4
12| 4825/7F/K RAKER(2) e Rl E 2,24.84 5 1
13 4329 2 m=afR(2) thz JARE S 2,25.42 4 1
14 5141 ZH H#E®Q) hes E®drEit 2,25.74 6 5
15| 6345 & —3#E(3) thz hEFFh 2,26.35 5 2
16 4473 F)1l EK(2) thes FEEg 2,21.59 6 6
17| 4964 )11 FiEth (2) thz 4 [E o 2,28.32 5 3
18 4373 lu&X BXIE(3) thes AEFE 2,30.57 5 4
19 4502 R WmE) thz =fte 2,30.71 4 2
20| 4848 FFH fE(3) thes Rl R 2,31.10 5 5
21 5302 /ML £ (2) e &/ HEh 2,31.15 1 1
22 6296 =i —E (1) thes HIET 2,33.75 6 7
23| 4837 /iR #KER(2) e BRI E 2,33.82 3 1
24| 4275 &% BEQ) thes A% 2,34.87 4 3
25| 4265k (1) thz EEs 2,34.88 4 4
26| 4968 =:E #Hith (2) thes i L 2,36.22 3 2
27| 6504 F L thiE (1) thz mEs 2,36.53 5 6
28 | 5080 #{xHEA #HA (1) thex =¥ 2,37.18 3 3
29 | 4064 Bl BFE 1) thz FELILAG 2,31.57 3 4
30| 4063 ARER =—(1) thes FEEILAS 2,38.49 3 5
31 4602 % = (1) thz B Laa 2,38.63 3 6
32| 4605EE = (1) thes Bl 2,39.78 3 7
33| 4452/ B (2) thz mEs 2,39.79 4 5
34| 6500 3O #&AER(1) e MEEH 2,39.87 3 8
35| 4803 |Fi# #1(2) thz ELs 2,40.48 1 2
36| 6576 L & (1) thes B/ HEH 2,40. 82 2 1
37| 5149 EHE F4 (3) thz EHIEHH 2,40.85 4 6
38| 4805 F&[R fERER() o Fo 2,42. 21 2 2
39 | 4506 EH #®A 1) thz =t 2,42.83 2 3
40| 6305 5kFH FiE() thes HIET 2,43.56 4 7
4 5029 RFTF &®H (1) iz EHEAG 2,46.00 1 3
42| 5097 &0 fEFEHO) thex = L 2,47.35 4 8
43| 5174 RRBRR # (1) thz EHIEHH 2,50.28 2 4
44 | 4806 FE#E BI—ER (1) o Fo 2,50.35 1 4
45 | 5374 ¥ KE§ (2) thz wi s 2,52.53 1 5
46 | 4984 3RO BB (2) thes ¥ 4 [ o 2,54.28 2 5
47| 5027 ¥ #AX) thz RHEAG 2,58.96 1 6
48| 6573 KBA #FHE(O) e &/ HEH 3,07.99 2 6
49| 5076 = HBEA() ths =L 3,20.00 2 7
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& No. KE £ E& R EE & No. KE & E& R EE

1| 15/ 4803|FE# (2 s 5,18.10 1 6/ 4551|=& #MK() s 5,06. 71
kot vy Fh Rk i

2 18] 4275 &4E BAE(D) s 5,25. 20 2 11 4941 2% Q) FE 5,10. 45
Sanyruth HET NISK Y HNET

30 19 5117 %8B KHO) EE] 5, 26. 52 3| 21 5450 FIE E#f2) s 5,12.59
IV 5444 EPAs 9ING THE )15 B JRC

4 8 4231 EH iR (1) EE] 5, 26. 86 4 1 4986 @EEX (1) s 5,13. 69
534 19% e Ry i Ll

5 1 5025 &8 KEX) s 5,29. 05 5 17| 4265 miE % () EE] 5,14.01
1M EOvH EHHEAG Ab971L HBET

6| 21 4540 FiE EAB() | 5, 30. 86 6 13 5231 %8 R-ER(Q2) |HE 5,14.12
U F F44m9 i FIYN 9y 0y it (s

7 2| 4832 A HEN) R 5,33.38 7 41 4831 /NERR #iAE (1) |HE 5,16.51
Wy 1 R ILE R 1Y 4y BRILE R

8| 12 4527 MME B (2 EE] 5, 35. 24 8 10 5332 hFt A& (1) s 5, 16. 86
W ry E% Thhs I9% &/ FHAH

9| 13 5159 %) 2@ (2) s 5,36.13 9 16 45044k BA() |[HZ 5,17.57
Y7° 09 Lhat” EHIEHs a9t =tt

10 11 5170 kK *%F (1) EE] 5,42. 34 10 7| 4338 i 2R (1) EE] 5,18.07
TH9F 9% EHIEHs Thy' Yy ey /A

11 20 4277 His T& () EE 5, 46. 26 11 20/ 4503|=m@E =(1) EE] 5,19. 81
¥ ¥ EM =ik M Y2y [SEadss

12| 10 6454 1@ HIEQ) R 5,48.03 12| 14 4485 INE Fith (1) EE] 5, 20. 96
vhE s =tte DA 2R h B oh

13 6/ 4157 ARSE(2) s 5,53. 49 13 3 6304/FE BN s 5,22.78
4+h 71k INRRES EN VIV HET

14| 16/ 4159 EhE{=(2) s 5,54.23 14| 15 5080 kM A (1) EE] 5,27. 84
41h e /N #h4 274 =L

15 7| 6569 EL (1) FE] 5,57.05 15 5 4223 ¥rET B& (2) EE 5,29. 60
oYY 4 B/ HEH 4431 19% i

16 | 17 6577 i ## (1) FE] 5,57.36 16| 19 4874 =F #LA() s 5,37. 14
17" 19% &/ HEP NZad) R L kAL B

17 4 4226 AT (1) EE] 6,01. 00 17 8 4599 Tix &t (1) s 5,38.98
Thh3 h{tb wiEh E39h Yot BT

18 5 6566 (uO 2 (1) s 6, 08. 70 18 9 4969 EREX (2) E 5,47.71
7whF h &/ HEP 444" 7FtEn 4@

19 3 5347 HR A () EE] 6,10. 21 19| 18 4451 &8 ML Q) EE] 5, 48. 52
451 huh [N e 79FAT THE mEs

20 9/ 5079 #fE Hh (1) s 6, 25. 00 2| 5454 JtiR 14 (2) EE]
L3h3 ¥y =L 4D a1y JIlF B JRC Ri5

14| A158| KFE¥#E (2) thig 120 4590 #liE &% (2) thig

vy Enf /N Ri5 49 194 [Ep-L Riz




HEEF
1500m

[ 348] [ 448]

& No. K 4 Es g/ HE & No. K 4 iE# g/ HE

1 21 5488 diR E (2) =2 4,39.89 1 15 6166 EHk #EA (3) L2 4,22.33
THY D un 4 Eig 43% b B

2 3 4126 KA ®z (2) iz 4,41.72 2 14 4465 21l & (2) iz 4,25.32
Tth 1% B hmny by F 8o

3 4 4789 M & (2) iz 4,41.97 3 13 5460 ILE #hth (3) iz 4,28.30
Y8 anrk Fh 8 A B

4 19 4587 =ik %— (2) iz 4,43.43 4 11 6168/ €% E& () iz 4,33.96
b Y EF EEd h%3 V% B

5 8 4910 &FE FKXEH (D) iz 4,56.22 5 3 H139/FH &KX ®O) iz 4,34.65
A/NG 350 HNET 94 193 EHIt &4

6 18 5015 H4@ =& (2) iz 4,59.72 6 19 5528 RIE —#i (2) iz 4,35.78
Y, EHEREG LKA VAR LfES

7 5 4315 FR H(Q2) =2 5,02.96 7 18 5461 #t@ %3+ (3) iz 4,36.15
747 Y3 AREH L34 b JIIFF B JRC

8 9 6206 X#0 528 (2) iz 5,04.00 8 200 4196 ;%A #HF (3) iz 4,38.48
¥Ib 7374 EHBA XS 1Eh a9n =g

9 20 4482 PR AR (1) iz 5,05.42 9 5 4059 #iEH Eth (2) iz 4,39.90
INVEIVE] REFER VLM VAl FELLAS

10 10 4547|F L #F0(1) iz 5,06. 33 10 11 4060 & K& (2 iz 4,40.78
7HY 191 SR 40t kD% FELLAS

1 13 5243|7%H# 28 (2 iz 5,06.75 1 4/ 5535 B%F #Lx=(1) iz 4,45.50
734 4% it Aan 49/ Eng LfEG

12 111 4051 %@ &KX (2) iz 5,07.12 12 9 5323/#E FE (D) iz 4, 47.46
N4 anh FELWAR = Tk &/ FHAh

13 16 5088 #0O R%EE (2) iz 5,08.35 13 170 4822\ /E £# (1) iz 4,48.97
EYF E)HR =& 19%°7 44/Y AL R

14 17 M27FE#H £XQ2) iz 5,08. 54 14 10 5126|FH 2 (2) iz 4,49.72
EIN Y H44 EBRe 738 T B

15 15/ 5236 #iE EX(2) iz 5,10.09 15 120 2711 5% EE Q) iz 4.57. 11
Y H9 W8 it Aan 40/3%Y HFEF

16 14) 6283 2K #Rth (1) iz 5,10. 21 16 2| 5490 ;8B KiE(2) iz 4,57.64
WEb 73 MR E o RY 44y Bt

17 200 5018 ‘A& #5475 (2) iz 5,10.38 17 16 4812 7@k 1HE () iz 4,58. 69
PR A3 EHEREG $4b) 1924 Fo

18 6/ 6496 /\K % (2) iz 5,16.07 18 70 4335 BEFxE UK (2) iz 5,08.25
% 75 mEf 7V F) Va9 BIREH

19 12 4439 |#%&iR 3T (2) iz 5,23.59 6 5503 EFF EKEE (3) iz
Y N mES /) 853 Eis Ri5

20 11 4974 /1h& BEEQ) iz 5,25.94 8 4372 Bi& Hth(3) e
1819y 12 4 [l Vv IE B WAl AEFE Ri5

21 7 6412 48:F EX () iz 5,32.65
T4 0 huh BIREH
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1 6166 Ei EA Q) this NEXCL 4,22.33 4 1
2| 4465 2)Il £(2) thes FEEg 4,25.32 4 2
3| 5460 ILMA #Ath(3) e N B 4,28.30 4 3
4 6168|218 EF Q) ches JNsh Eh 4,33.96 4 4
5| 5139/ FAA#F &K (3) thes EEFt & 4,34.65 4 5
6| 5528/ %&le —# (2) thes L& 4,35.78 4 6
7. 5461 #H 473 (3) thes JIIHR EJRC 4,36.15 4 7
8| 4196;FA& HF (3) thes =l 4,38.48 4 8
9| 5488|diR E (2) thes B 4,39.89 3 1
10 | 4059 #AE =Eth (2) thes FEEILAS 4,39.90 4 9
11 4060 T& K& (2 thes FAaLtILAS 4,40.78 4 110
12 4126 KE @2z (2) thes B 4,41.72 3 2
13 4789 EH RN (2 thes Fh 4,41.97 3 3
14 4587 Rk %—(2) thes B 4,43.43 3 4
15 5535 B% M=) thes [LfEs 4,45.50 4 1
16 5323 Fa;E FNE (2) o &/ HAEH 4,47.46 4 |12
17 4822 B £ (1) thes R E 4,48.97 4 |13
18| 5126/ HE 2 (2) thes FHitd 4,49.72 4 | 14
19 4910 FE FKEA(2) e HNET 4,56.22 3 5
20 4211 &% EEQ) thes &S 4,57. 11 4 |15
21| 5490 ;B8 K32 thes B 4,57.64 4 |16
22| 4812 ik 1HEE Q) thes Fh 4,58. 69 4 | 17
23| 5015 & =% (2) thes EEHRES 4,59.72 3 6
24| 4315/FR H Q) thes AIREF 5,02. 96 3 7
25| 6206 X#0 £BA(2) thes EHAXG 5, 04. 00 3 8
26 | 4482 MR fR (1) thes ol S alan 5,05. 42 3 9
27| 4547 &1L HEFO() thes A4 5,06. 33 310
28 4551 =8B #HK(1) thes fR4E 5,06. 71 2 1
29| 5243 7H EB(2) thes it (s 5,06.75 3 |1
30 4051 #HE &KX Q) thes FELWAH 5,07.12 3 |12
31| 4335 #E#x AWK (2) thes ARES 5,08. 25 4 |18
32| 5088 $8O BEEE (2) thes =Bt 5, 08. 35 3 |13
33| 427 F# £X(Q2) thes B 5,08.54 3 | 14
34| 5236 #iE EX(2) thes EfET 5,10. 09 3 |15
35| 6283 AKX #HRth (1) thes fft B R EF o 5,10. 21 3 |16
36| 5018 BA #¥(2) hes EBEiit 5,10. 38 3 17
37| 4941 E# | Q) thes HNET 5,10. 45 2 2
38| 5450 EIE E#t(2) thex N5 BJRC 5,12.59 2 3
39| 4986 #&iE% (1) thes 1 4 [ o 5,13.69 2 4
40| 4265 M@ % (1) thes HFEF 5, 14. 01 2 5
41| 5231 F8 RZER(Q) i it (s 5,14.12 2 6
42| 6496 J\K % (2) thes EEf 5,16.07 3 |18
43| 4831 /NERIR #HE (1) i BRI R 5,16. 51 2 7
44 | 5332 th#f F#&E () o &/ FHAH 5,16. 86 2 8
45| 4504 fE2 K BA() e St 5,11.57 2 9
46 | 4338 g ZRA(1) thes /A 5,18.07 2 |10
47| 4803 E#E (2 thes b 5,18.10 1 1
48| 4503|&MA = (1) thes =ttt 5,19. 81 2 |1
49 | 4485 /B Fth (1) thes PEF4 5,20. 96 2 |12
50| 6304 FHE E(1) thes HIET o 5,22.78 2 |13
51| 4439 E&:R 3 (2) thes BmEH 5,23.59 3 119
52| 4275 &% BEQ) thes &S 5,25.20 1 2
53| 4974 /hFF BEE Q) thes 1 4 [ o 5,25.94 312
54| 5117 FE K& () thes =i 5, 26. 52 1 3
55| 4231 EFH mMHF () thes Higch 5,26. 86 1 4
56 5080 #{xHEA #HA (1) s =5 5,27.84 2 | 14
57| 5025 ik KE(1) thes EEHREG 5,29.05 1 5
58 | 4223 Trail E&E(2) thes Hikg 5,29. 60 2 |15
59 | 4549 Pl =EAEA (1) e o 5, 30. 86 1 6
60 6412 8:8 EX(2) thes AIREH 5,32. 65 3|2
61 4832 &H# HE() thes R R 5,33.38 1 7
62 | 4527 B EAR(2) thes L%t 5,35.24 1 8
63 | 5159 %) 2R (2) thes EFt L 5,36.13 1 9
64 4874 ETF #LA(1) thes fRiLg AL 5,37.14 2 |16
65 | 4599 FiF {Eth (1) thes ERH 5,38.98 2 |17
66 5170 KA F#& (1) thes EHI &G 5,42.34 1110
67 | 4277 Bk E (1) thes =Rt 5,46. 26 111
68| 4969 ;EREX(2) thes i L 5,47. 71 2 |18
69 | 6454 IFZAE HIZ(2) thes St 5,48.03 112
70 | 4451 B MR (Q2) thes EEH 5,48.52 2 119
71| 4157 BhEHE (2) thes INMAfE 5,53.49 1 13
72| 4159 HHE(Z(2) thes INAfET 5,54.23 1114
73| 6569 Eii ZE (1) thes B/ FHEH 5,57.05 1 15
74| 6577 FHH ##t (1) thes &/ FHEH 5,57.36 1 16
75| 4226 it i3 (1) thes g 6,01.00 117
76 | 6566 (O 23 (1) thes &/ FHEH 6,08.70 1 18
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& No. K 4 Es éﬁ/ﬁ‘*% & No. K 4 iE# éﬁ/ﬁ‘*%
1 25| 5440 1L FO#E (1) iz 9, b5. 1 23| 6166 EHk HEA (3) L2 9, 32.
WYY HAT# JIIF B JRC 43% b JIlh B
2 5 5439 K Zz& (1) iz 9,56.99 2 7 6168|£R E& () iz 9,40. 51
W 1/1 JIlh B JRC h%a % B
3 7 4910 HE JKEA () iz 10,59. 77 3 8 4973 /hNKIREZ=(3) iz 9,50.09
A/ amhng HNET o Y 9Ya9y i s
4 9 4839 E# E@Q) Fhig 11,22.04 4 9 4061 E Ea3axX(2 iz 9,51.32
NSIED] AL hy Eax FALLAS
5 3| 5130/ FAE H—(2) iz 11, 23. 67 5 5 5452 FE;R R1G(2) iz 9,55.49
U4 y94¥ Hikd Y0 29aF N B
6 141 4598 #fAA f&AKER (1) iz 11, 24. 40 6 1] 4845 L& 3 (2) L2 10, 01. 51
4F 194509 EES T+ eh B LA R
7 21 633788 ®A) iz 11,25.71 7 24| 6149 ;@88 #®={A Q) iz 10, 14. 94
ZIV IR hEFEch 433 Y193’ JIIF B JRC
8 15 4454|F;R #5=(2) iz 11, 28. 51 8 200 4975 REZEEAN Q) iz 10, 23. 34
947 193F EEf Ik By Edg
9 8 5242 FnHE Eth (2) iz 11,31.94 9 13 4052 #E b (2) iz 10, 23. 47
LM Vi BiEH w8 79 FELELAS
10 16/ 5540 &L #5E (1) iz 11, 32.85 10 11 4460 PR B (3) iz 10, 24.78
THY Y397 LfES b 7% Y39 hEFFEh
1 1 5538|=H #KEI() iz 11,42.57 1 10 4789 &M & (2) iz 10,25. 71
¥4 Yavhny [LfEd YT )a9ar Fh
12 23| 5089 LIl ¥ (2) iz 11, 58. 46 12 4 4588 AR F 3t (2) iz 10, 35. 14
AT 3I9AF =L 49F H2° b BB
13 17 6300 XHM &k (1) iz 11, 59. 61 13 17 4470 /h#k 41 (2) iz 10, 35. 63
T 15 194 HIET vy sy hEFFEh
14 12/ 6596 1A B (1) iz 12,03.93 14 6 5124/ FiE BEX(Q2) iz 10, 38.79
9% 19aF EEH M7 hu4 FHitg
15 20/ 5026 Eatt —E (1) iz 12, 05. 69 15 19) 4328\ Kk #K(2) iz 10, 40. 47
VL3 A Y REHELF VL NNVEVY, ARES
16 100 5018 @& #£¥R(2) =2 12, 06. 42 16 18] 4972/ F:8= ) iz 10, 59. 43
IVEh ASY EHEREG JeESUEV] 12 4 [l o
17 6/ 5152/ &AM #i— (2) Fhig 12,31.67 17 20 4436 L B (2) iz 11, 06. 39
198" ¥ auMF REFALE G 7YY 74 EEf
18 24| 5151 RE @K (2 Fhig 12,32.45 18 3 5142E& #HEQ) iz 11,13.73
NV hoh REFALE G 7434 493 REFALE G
19 18/ 5030 FiF f£th (1) Fg 12,4417 19 14 54908 K52 iz 11,16. 62
E3vh oy EHEREG 43T 44y Bt
20 4] 4449/E8 &K (2) Fhg 13, 56. 42 20 15 5243|7%H# 282 iz 11,27.83
4 19% mES 734 t4Y it Aan
13| 4262 |%x3 R (2) iz 21 21 5236 #iE EX(2) iz 11,31.48
#534Y39 xS B EE Y149 b8 wBIEH
2 4512 2 B3 (3) iz 22 16 4812 7@k 1HE () iz 11, 35. 47
W4 b =ttt Ri5 4y 1927 Fh
11 4827|€#H =) L2 23 22| 5503 2% HKE (3) iz 13,01.94
e B LA R Riz v/ 493 Bt
190 4909 {kH Z=#E(2) iz 12 5524 EE Ki#E(2) iz
35 4% HIET & Ri5 WY 5 4% L& R
22| 4044 BB B#R(2) iz
55" 3 73b FELLAS Ri5
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JIEHL  No. K 4 MERFFR EA FC&R #h s
1 6166 Ei AEA (3) ths N B 9,32.73 2 1
2| 6168|£'R & (3) & JIFh Brh 9, 40. 51 2 2
3| 4973 IJ‘?&:RHE— 3) heg L] 9, 50.09 2 3
4| 40611E EaxX(@ hgs FeEELAG 9,51.32 2 4
5 5440 il F0#E (1) ths JII B JRC 9,55.35 1 1
6 5452 iR R (2) thes NFh B 9,55.49 2 5
7 5439 K Z2& (1) ths JII & JRC 9,56.99 1 2
8| 4845 LI H(2) hgs B LA R 10, 01. 51 2 6
9 6149i&:8 #&AQ) ths JIlef B JRC 10,14.94 2 7
10| 4975 KZHE AN Q) hgs 4 [E e 10, 23. 34 2 8
11 4052 #HHE Zth (2) thz FELLAH 10, 23. 47 2 9
12| 4460 P9 B (3) hgs hEFEch 10,24.78 2 10
13| 4789 EME EH (2) thz Fh 10,25. 71 2 11
14| 4588 TN F 3 (2) hgs B L 10,35. 14 2 12
15 4470 /% £ (2) iz FEFoh 10, 35. 63 2 13
16| 5124 FiE BXK () hgs sk 10, 38. 79 2 |14
17 4328 Kigk K (2) thz JARE S 10, 40. 47 2 15
18 4972 FiBx= (3) hes By [ 10, 59. 43 2 16
19| 4910 &R JtKE(2) iz HIET 10,59. 77 1 3
20| 4436 £ H1(2) hgs mEf 11, 06. 39 2 117
21 5142 B HEQ) thz EEFILE & 11,13.73 2 18
22 | 5490 ;BB KiE(2) hgs Bt 11, 16. 62 2 19
23| 4839 &t R (3) thz R ILE R 11,22.04 1 4
24 | 5130 pkA »Ii— (2) hgs s 11, 23. 67 1 5
25| 4598 #rA f&KER (1) iz B L 11, 24. 40 1 6
26 6337 A8 MA 1) hgs FEFEch 11,25.71 1 7
27| 5243 7H 28 (2) thz i -Tidas 11,27.83 2 20
28 | 4454 R #% (2) hgs mEf 11, 28. 51 1 8
29 | 5236 #iiE EX(2) thz HREIEH 11,31.48 2 21
30 | 5242 F0A Eth(2) hgs FEIEH 11,31.94 1 9
31 5540 L 5 (1) thz LfEs 11, 32. 85 1 10
32 4812 =ik 1R% (3) ths =] 11, 35. 47 2 22
33| 5538 =H #BABA() iz [LfEs 11, 42. 57 1 11
34| 5089 il RE(2) thes =L 11, 58. 46 1 12
35| 6300 KHM &Kk (1) iz HNET 11, 59. 61 1 13
36 | 6596 FTAA B (1) hs B L 12,03.93 1 14
37| 5026 Easf —E (1) thz EHEAG 12, 05. 69 1 15
38| 5018 BEA #¥(2) hgs RHHEIHG 12, 06. 42 1 16
39| 5152 /AH fi— (2) thz EHIEHH 12, 31.67 1 17
40 5151 R B X (2) th=s EBiEph 12,32.45 1 18
4 5030 Fix fEth (1) thz EHEAG 12,44.117 1 19
42 | 5503 2% KE (3) hgs BEitg 13,01.94 2 | 23
43| 4449/E8 &K (2) thz mEs 13, 56. 42 1 20
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